
John Deere > Agriculture >TRACTOR >5095MH - TRACTOR >5095MH Tractor (Engine 4045HLV52)(Tier 3)(North America Edition) (PC10544) >70 Hydraulic 
Pump, Rockshaft, Hitch Control Valve And Rear Hitch Tractor >HITCH VALVE ASSEMBLY, ELECTRO-HYDRAULIC - ST330101

Copyright © 2020 Deere & Company. All Rights Reserved.691



John Deere > Agriculture >TRACTOR >5095MH - TRACTOR >5095MH Tractor (Engine 4045HLV52)(Tier 3)(North America Edition) (PC10544) >70 Hydraulic Pump, Rockshaft, Hitch Control Valve And Rear Hitch Tractor >HITCH 
VALVE ASSEMBLY, ELECTRO-HYDRAULIC - ST330101

KEY PART NO. PART NAME QTY REMARKS

1 SJ11828 Elec-Hyd Proportional Valve 1 SUB FOR RE285277

2 R276611 Support 1

3 19M7786 Screw 4 M10 X 30

4 19M7867 Screw 6 M8 X 25

5 19M8551 Screw 1 M10 X 25

6 R255273 Cover 1

7 19M8446 Screw 6 M8 X 20

8 R255940 Shield 1

9 19M7775 Screw 2 M6 X 16

10 R273410 Bracket 1

11 R273415 Bracket 1

12 LVA13532 Sensor 1

13 R100686 Support 1

14 21H1383 Screw 2 0.190" X 2"

15 12M7060 Washer 2 5.300 mm

16 14H631 Nut 2 0.190"

17 P48347 O-Ring 1

18 RE273414 Rod 1

19 RE273412 Link 1

Copyright © 2020 Deere & Company. All Rights Reserved.692


	ST330101 - HITCH VALVE ASSEMBLY, ELECTRO-HYDRAULIC

